()] FMP 75> 2T9A250ay
PLUNGE ARBOR EHTENSION

REMIT 3L b7—/N FMPE
+ SWRHOMIT. 7— AOREHD LB AVRICHAZRBOELET.

This extension will add extra length for tool easily.
Hi

K. LK

@MENRD

WWW.Manyo-100lS.COJp  aDe m

G
| - \
= JE= 1 = | ¢ . ; g
[an)
'Uo i 3
% L H
> CODE d L D H K W | H1 | K1 | W1 G
Y FMP22-OD48 - 50 50 | .o M10 x 80
-100 100 M10 x 130
T e — 22 50 | oo 18| 5 | 10| 20 | 6.3 104 oo a5
g\ -100 100 M10 < 130
FMP27-OD73 - 50 50 M12 x 80
= 0 27 1001 73|20 | 6 | 12|23 | 8 |124 25 To5
> FMP22.225-0D47 - 50 50 | .- M10 x 80
3 -100 100 M10 x 130
; e = 22.225 —5 o 18 | 4 8 | 19| 5 | 84 — 2580
5 -100 100 M10 x 130
e FMP31.75-0D76 - 60 60 | o M16 x 95
-120 120 M16 x 160
P = — 31.75 55 oo 30 | 7 [123[32 | 8 127 s o
C -120 120 M16 X 160
gz) WHFHY A XEHEXCKVEENELEY, Special size is available upon request.
m
>
ny)
3
Omm g, & RS —) =
T FMP 75 DEBT7 R 72— | v a—
Y (CONVERSION ADAPTER) .
r_r|| NExUR FERZXNIAAYE—FBE7—/N
z CODE d DI [ L[D[H][K]|W][HI[KI[WI G
o) FMP22 - 22.225-0D48 - 35 | ,, |55005 48 4|8 |20|63|84|Mi0x65
> -OD60 - 35 35189 ;g
FMP22.225 - 22-0D47 - 35 47
OD60 35 22225 22 &0 5 [10|20| 5 [10.4| M10 x 65
FMP31.75 - 32 -OD76 - 50 76
oDo6 B0 | 3175| 32 |50 g5122| 7 |14|32| 8 |12.7| M16 x 85
SRR XKV EEN=LE Y., Special size is available upon request.
wﬁza L 7“# 4 =52
FMH shZE@EE=07 7—/\ &EXYE)
LIGHT WEIGHT HOLLOLW TYPE ARBOR (HIGH FEED CUTTING)
CODE D L1 L2 | H |D1| K W Kg G
BT50-FMH22 250 - 63 250|212 6.8 HOB
-300 - 63 22 |[3o0|262|18|60| 5 | 10 | 7.4 )
M10 x 35
-350 - 63 350|312 8.0
BT50-FMH22.225 -250 - 63 250|212 6.8 HCB
-300 - 63 |22.225(300|262|18|60| 4 | 8 7.4 M10->< a5
-350 - 63 350|312 8.0
BT50-FMH31.75 -250 - 80 250 | 212 8.7
-300 - 80 300 | 262 76 | 7 9.7
-350 - 80 350|312 10.7 | HCB-
BT50-FMH31.75 -250 -100 31.75 580212 | 3© 123974 Mi16 x 40
-300 -100 300 | 262 96 | 7 12.9
-350 -100 350|312 14.4
BT50-FMH38.1 250 -125 250|212 12.0
-300 -125 38.1 [300(262|34|98| 9 |159| 13.6 | MBA-M20
-350 -125 350|312 15.1

WEFER Y XKD EENZLET . Special size is available upon request.
T2 B—=RI—F A I FR—IO ZRAWIFERIC(-OH) &£ ZIEREVLET,
When ordering coolant through type, add “-OH” to the end of model number.





